WINAM GROUP

CLOXX

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE DINSTALLATION

DATE: 24.1.2020

220325

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A
WINAM GROUP " .
CLOXX N
DATE: 24.1.2020 P I— A ( 3
702341 PCS 702633 |pcs 703982  |pcs 704006 704159  |pcs 704179  |pcs
1 1 1 ® 5 5 |1
90x50 90x50
704183  |pcs 704199  |pcs 704332 |pcs PCS 704440 |pcs
1 1 1 1 1
= = = = =
704676 |pcs 704678 |pcs 707133  |pcs 709045 |pcs 901868 |pcs
1 2
< ’/
i | L]
& - |
= = 10x80x745 ?34x598
902022 |pcs 902134 |pcs 902157 |pcs 904100 |pcs 904414 |pcs 904455 |pcs
10 30 74 12 2 5
/ Q0 . D /
L 710 = 60x60x2 260/40 L 515 L 2737
904456 |pcs 904505 |pcs 904819 |pcs 904834 |pcs 909519 |pcs 909637 |pcs
1 2 6 1 32
CFD
L 2737 L 2137 @44.5x710 L 710 380x380 M10
909638 |pcs 909639 |pcs 909708 |pcs PCS PCS PCS
64 32 £ 1
20/10.5 M10x25 +870
PCS PCS PCS PCS PCS PCS

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 220325
CLOXX 4

DATE: 24.1.2020

- - - - - - - - - - - - - - - - -
EN/AS Impact Area 34.5 m2 1:50
* * * * * * * * * * * * * * [ Es—
Grid size = 500 mm 0 2
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
970 785 2000 785
+ + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + +
+ + + + + + + + + + + + +
+ + + + + + + + + + + + +
+ + + + + + +f\ + + + + C\ + +
T | o+ + + + + + + + + + + + + + |+
0 0
~ N

785
825

J*f‘\
L

+ + + + + + +
+ Ol + + + + + +
(@]
~
-—
+ + + + + + +
+ + + + + + +
+ + + + + + +
+ + + + + + +
+ + + + + + +
+ + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
+ + + + + + + + + + + + + + + + + + +
N
+ + + + + + + + + + + + + + + + + + +

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A
WINAM GROUP 220325 -

CLOXX DATE:  24.1.2020 PLAY 4A

MTOXZ D Q -

=~ 909519

%

Y AR A % 2

77/ oS / /

7 ey 47 /4//// O

w7~ 7 N 7

s Y T O

/// . .7 Z 4, 77 O\ 4

V4 74 7y //////// 4 %
Yoy

%///Q/ ///// ‘ ‘ vz !:///Q\J]/%

M1 O /ﬂ//ﬁ//ﬁ//ﬁlf‘

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 220325

DATE: 24.1.2020 5
E— EN/AS Impact Area 34.5 m2
1:50
I 00000
- Falling Space 37.6 m2 0 2
Max Falling Height 1550 mm
4720
’ o S R
r,/ o Q
/ g o
7 S o
S
. S
, S
’ S
// = I—
J 1500
830
&
3 1500
¥ 2
o
: NS
\\ '\
1000
o
S
o
N
6930
7500

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 220325
CLOXX DATE: 24.1.2020 5 A
+2320
+1470
+870
+3410
+2250
+1470
Oo0o
= o

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

CLOXX DATE:

220325

24.1.2020

904697
(704381)

904761
(704381)

904810
(708858)

904505 905019
(704676)

904819
X6

904455
x5
902022
“ll!I’

Q04414
X2

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP 220325 =
CLOXX = |_ A\ ¢ TOWERA

DATE:  24.1.2020 7
3 905019
) d§????5> (704676)
V' —
904455 1
Z sﬁ/ )%?
(704381) = N
I I o 904810
g L&
g @ > J
& | L et
&> et
AT~
D A

902134
x18
704676

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP 220325 ';

., TOWER A
CLOXX DATE:  24.1.2020 PLAY 73

@ 1:50
(v = — — [« = — ]
+1655 +1655
+870 +870
C +270
D —— (@]
+0 +0
o
o
©
i ! i i i i
+2255 +2255
o
+1470 +1470 A
1
+870 | | +870
+270 < +270
d - o———1
+0 +0
i i i i i i

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



-
WINAM GROUP 220325 ';
CLOXX DATE:  24.1.2020 PLAY ™

C)
N

904455 904819
Q\ /<
904834

I @ 904456
AL v : .
@ /

¥

909519
x4

"

A

U

704199 @

704678 L ¢ 703982
U hg

£

Y,

T

."\(‘ N

g ,\\
/

{

N
=

//s

AV
74

@h\
{
'Q'

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




P

WINAM GROUP 220325 ';

CLOXX DATE:  24.1.2020 PLAY TOWE|7‘¢B;
1:50

A

+2255

+2255

M [ — ]
+1470 +1470
+270
+0 +0
o
O
©
0 e N 1 Tt
+2255
[« = E— = —
+1470 +1470
+270
1
+0 +0

P

N

—D

—D

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 220325

CLOXX DATE: 24.1.2020 8

Max falling height. _
-
H @@
909708 -
704199
704183
704381
9
703982 ﬂ ” U
o © [
o N
0 I
O
704006

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

Impact Area EN 1176

REF:

DATE: 20.2.2018

]

3

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y

M

h <1000

Materials with significant
impact attenuating

fine gravel 0—8 mm
B e
SR L 44

Py
a

G oac G4 a4ga
2<% 10 cm i
4.4 - 44

Note. For accurate values, see
manufacturer’'s instructions.

properties. gross
unsorted sand
@wcmi%
h <3000 Loose fill material
E.g. Doee 0T
sand/gravel 0,25..8 mm D60/D10<3,0 | 2 Lot ¢
Woodchips 5...30 mm i ¢ ae O l. o,
bark 20...80 mm < . ) “
e L S SR S I 1
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m 1 A2 L SL //Ls‘
60 mm ~> 1,8..2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2.1..2.5 m = s l-soi-T-TH

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP =

REF: N
EN 1176 FOUNDATION REF: oo PLAY

REMOVE SAFETY SURFACE/SAND/GRAVEL
TO CHECK FOUNDATION

@

REMOVE SAFETY SURFACE /SAND /GRAVEL
TO CHECK FOUNDATION

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
CLOXX

704381

DATE:

21.11.2012

0

=
)

/

[/

DET 3 — 4

LEFT

RIGHT

(1) 902124

Q l 3 150x50x50
\\ \ (5) 902232 |pes|(6) 902233 |pcs|
\ 6 6
Q u I —
\\
&y
MI0x55 | | M10x30 | |
A (7) 904068 [pes|(8) 904697 [pcs|
N 2 T
/
M8x40 | |260.3x2.9x71d |
904760 |Pcs|10) 904761 |pes|
( o 0
OET 1.2 lerr | | RGHT | |
: (11) 905083 [pcs|(12) 905112 |pes|
' 20| ‘ 20]
] g2 | | @22 | |
(13) 909256 |pcs|i4) 909519 [pes|(5) 909637 |pes|i6) 909638 |pcs|
| 970 | 8 2 - 8 16
® [|l&
BiN
016/8.4x1.6 | | 50x380x380 | | Mo | | @20105 | |
(17) 909639 |pcs|(18) 909852 [pes|(9) 909855 |Pos|20) 980160 [Pes((2]) 980161 |pes pes
il 8 19 20 12 L
) » 2\ p \
Dk w <
P || || || ® || &
MI0x25 | | M8x30 | | M8x35 | | me | | wmo [ ] ]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



N

WINAM GROUP 704381 Uy

CLOXX DATE: 21.11.2012 — LA 2(3)
DET 1 DET 2
M1Ox25
@20/10.5
)
909519
VAR
—ﬁ%/v”
ﬁ<\

DET 3 DET 3a

M12x90 904697

DET 4 ~ DET 5
“ 704310
704311
/)
MB8x30 /|| 8
o S
005083 -7 ;?SSSfL
016 /8 4 °
Ve YE
S0m 110 904697 905112

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A

WINAM GROUP 704381

CLOXX DATE: 21.11.2012 — LAY 3(3)

DET 6 DET 7

MBEXx35 /

905083
216 /8.4 «

M&
905117

DET 8

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

CLOXX

FLOOR (SLIDE) DATE: 3102013 LAY 1(3)
(O 704432 () 704038 [pcs|() 902124 |pes|(0) 902232 [pes|(C) 902233 [pes|(C) 980161 |pes pes
1 12] 6 6 12] .
% /’ ‘@’
<> 5 =)
| 1soxsoxs0 | | wmioxss | | miox3o | | w0 | ] B
pes(0) 909109 [Pes|(0) 905090 [pesi() 980154 [pes|(C) 909248 [pes|(C) 905115 |pes|
- 2] 2] 2] 2] 2]
N\
1 Mmi2xa0 || @45 | | w@2413 | | M2 | | @32 | |
o P P o P P
(O 704447 | 704446 |pes|() 902124 [pes|(C) 902232 |pes(0) 902233 |pes|(C) 980161 |Pes| pes
1 © 6 12] .
27 < ‘@)
<> =
| 1s0xs0x50 | | wioxss | | wmioxso [ | w0 | | N
pes(0) 909109 [pes|(C) 905090 [pes|(C) 980154 [pes|() 909248 [pes|(C) 905115 |pcs|
- 2] 2] 2| 2] 2]
\euf
| wizxeo | | @45 | | @243 | | w2 | | @32 | |
eS| s e eS| s e
(O 704666 |() 704667 |pes|() 902124 [pes|(C) 902232 |pes|() 902233 |es|(C) 980161 |pes| pes
1 12] € 6 12] .
> & \&/
| 1soxsoxso | | mioxss | | miox3o | | w0 [ ] ]
pes(C0) 909109 [Pes|(0) 905090 [pes((C) 980154 |pes|(C) 909248 [pes(C) 905115 |pes|
- 2] 2] 2| 2] 2]
= || &
\ef
| wmizxeo | | was | | w2413 | | w2 | | @32 | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

CLOXX

N

FLOOR (SLIDE) DATE: 3102013 LAY 2(3)
(O 704684 |() 704685 |pes|() 902124 |pes|(C) 902232 [pes|(C) 902233 [pes|(() 980161 [pes pes
1 12] 6 6 12] .
‘ e S,
<> & o
| 1soxsoxso | | wmioxss [ | wmioxso | | w0 [ ] B
pesi(C) 909109 [Pes|(C) 905090 [pes|(C) 980154 |pes|(C) 909248 |pes(C) 905115  [pes]
- 2] 2] 2] 2] 2]
|| &
\muf
1 Mmi2xa0 | | ess | | 2413 | M2 | | w32 | ]
e P = = P =
(O 704692 () 704693 |pes|(0) 902124 [pes|(0) 902232 [pes|(C) 902233 [pes|(C) 980161 [pes] pes
1 6 6 12
2 o =
o s || ©
| 1soxs0x50 | | wmioxss | | wmioxso | | w0 | ] N
pes(0) 909109 [pes|(0) 905090 [pes|(C) 980154 [pes|(C) 909248 [pes|(() 905115 |pcs|
- 2| 2] 2] 2| 2]
@ || &
\ef
] w20 | | w45 | | w24z | | w2 | | @32 | |
) P ) ) s P
e P = e P =
) P ) s s P

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP CLOXX —
FLOOR (SLIDE) DATE: 3.10.2013 LA 3(3)
M1 2x40 d
(909109)
904810
905090
324 /13
(980154)
MT2
(909248) ATT I MAX GAP betweén plate
and tube is 6mm
9020115 HUOM | MAKSIMI VALI lattialevylld

ja putkella on 6mm

9072

(902233)

T

124

MTO

KAYTA TARVITTAESSA SAMAA LEVYA
VASEMALLE TAI OIKEALLE.

IF NECESSARY USE SAME PLATE LEFT
OR RIGHT.

NOTE:
Use a wire marked pairs
of the same junction.

Huom!
Kayta langalla merkittya
paria samassa liitoksessa.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

CLOXX DATE:

704440

24.5.2012

1(2)

<E DET 2

)
(9]
(%)

(1) 704439
.,f

(2) 909519 [pcs

50x380x380 | |

(3) 909637 |pcs

S
=/

M10

(4) 909638 |pcs

220/10.5

(5) 909639 |rc

P

M10x25

+1470

+0

ﬁ

392 |

600

1

827

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



P

WINAM GROUP 704440 Vv

CLOXX DATE: 2452012 LAY 2(2)
DET 1 DET 2 M10%25
220/10.5
0 » |7
BGAN 909519

DET 3
MT2x120

;////// (902096)
901994

M12

— (902234)

ﬁx%@‘ 704440

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 704676
CLOXX DATE:  7.6.2012 1(2)

(1) 704668 |pcs|(2) 704672 |pes

15x670x734 15x670x534
(3) 902124 |pes|(a) 902232 |pcs

&

150x50x50 M10x55
(5) 902233 [res|(6) 904133 |pe

s ||

M10x30 M10x80
(7) 904158 |pcs|(8) 904987 |pes

Q [~

(9) 904996 |Pcs|i0) 905019 |pes

[%2]
[%2)

D

1] 2]
— AT N
‘/

] Lo |
(11) 909519 |pcs|i2) 909637 |Pcs|
2 8
S — e — —

1@)

=
(] | —

o 50x380x380 M10
< (13) 909638 |pcs|14) 909639 |Pcs|
16] 8

V = P
@20/10.5 | | wmiox2s | |
S (15 909852 |pes(i6) 980161 |pcs|
° 8] 1°]

G G I U B M) v

W S

784 \‘@i
Mexso | | wmio | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 704676
CLOXX DATE: 7.6.2012 2(2)
DET 1 DET 2
M10x25
220 /10.5
il i i .
=L 909519
Vo
= NS
°3 6 220 /10.5 %\Aéf§_/%ﬁ/ %
M10x25 oy
DET 3 DET 4
704668
904987 v 0 S
/—
N 904996
d
(] N
904158
M10x80
DET 5 DET 6
M10x55 /04668 0
e | 3
) ) M10x55 ’J%ﬁ
2 M10x30
el | 902124
o124 Mo Tk
/ Y
MG = 704672

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

CLOXX

FLOOR 2 DATE: 10.5.2012 LAY 1(2)
(O 704443 | 704442 |pes() 902124 |pes|(C) 902232 |pes|(C) 902233 |pes|(C) 980161 |pes] pes
1 8 8 16
,’ &)
@/ &) 7
150x50x50 Mioxs5 | | wMioxso | | Mo | | N
(O 902124 |pes|() 902232 [pes|(C) 902233 |pes|() 980161 [pes pes
8] 8] 16] -
- &
s || &
150x50x50 Mioxs5 | | wMiox3o | | M0 | | N
(O 902124 pesi(0) 902233 |pes|(C) 980161 [pes] pes
8] 8] 16 -
& \eif
| 1s0xs0x50 | | wmtoxss | | wmioxso | | w0 | ] N
(O 704694 () 704695 |pes|() 902124 [pes|(0) 902232 [pes|(C) 902233 [pes|(C) 980161 [pes] pes
7 14
&
150x50x50 M10x55 Miox30 | | wmio | | N

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP CLOXX
FLOOR 2 DATE: 10.5.2012

C

PLAY 2(2)

.

90~

(902233)

124

(980161)

MTO

NOTE:
Use a wire marked pairs
of the same junction.

Huom!
Kayta langalla merkittya
paria samassa liitoksessa.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 708858 Vv
CLOXX DATE: 11.2.2019 L

DET 2, 3
e (3) 904810

(5) 904833

DET 5 /
DET 1 @30x565 | | M8x40 | |

(?) 980152 [pcs|(8) 900498 [pes

9 6

S| |

224/8.4 M8x50

|w)

m

—

B
</

o
(9]
(%2

(1) 909855

\

860
784

A L L ) M8x35
( ) ¢ [ 910683

Be]
(9]
)

[~

<

DET 6

11
(3) 909850 |pcs

(870-1470—1970-2070)

e

‘ 784 ‘

M8x25

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 708858 a

CLOXX DATE: 11.2.2019 PLAY 2(2)
DET 1 DET 2 904818
M12xT120
(902096) M8y AC
901994 (909876)
EZ oo &
“e ) runkovaiheessa.
Sisdpuoli. % Be installed
frame in step.
— 904810
@ N M12 /04696
(902234) /04697
M12x120 DET 4
(902096)

MB8x50
(900498)

904818 p24/8.4
(980152)
M12
(902234) | D1
* 901683
DET 5 | DET 6 5 P
b /J%;—jéj 980152
L,,,,’a_, |
A¢V MBx25
909850

5 4 M8x40
o~ (909876)

909855

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP SLIDE METAL
=LAy 1(1)

DEEP FOUNDATION DATE:  11.2.2019
(O 707133 |res|(0) 901868 |Pes|(1) 909210 [es|(2) 905051 |Pes|
a 12 4 4

/ iy
10x80x745 | | @30x598 | | M8x40 | | wo24/84 | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

DEEP FOUNDATION

A S

1(1)

) |

SLIDE METAL

12.2.2019

DATE:

051

1/

O

S

[ 1]

level +197/0

Floor

+1970

+0

level +20/0

Floor

+207/0

+0

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 902134 V'—
CLOXX DATE:  3.5.2013 PLAY 1(2)

(1) 901803 |pes|(2) 901994 |pcs|
) N
DET 1, 2, 3, 4, 5, 6, (8) %
Mi2xeo | | @190 ||
(3) 902096 |pes|(2) 902234 |pes
DET 8 @/ il 6
= mixi20 | | w1z | ]

PCS PCS

e B
g PN PCS PCS

| H R

%

|

|

DO NOT TIGHTEN THE ] ]
JOINTS UNTIL THE T T
STRUCTURE IS COMPLETE.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 902134
CLOXX DATE: 3.5.2013 2(2)
DET 1 DET 2 DET 3

LAMINATE OR WQOD

FIRST BOLT
INSTALLATION

(901803)

M12
(902234)

FIRST BOLT
INSTALLATION

\ Max. 20Nm.

} ,\ :“

DET 4

901994

901994

Max. 20Nm.
M12x120
( )

Max. 20Nm.

M12x120

REMEMBER
FINAL
TIGHTENING

902096 (902096)
DET 7/ 902157/ or DET 8 902157/ or

904747 904747

FREE HOLE FREE HOLE

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




11.5.2017

LAPPs

g ot
ity Mﬂnvmxm

o

123 po
RS oy
Tierg ,;“*"

o
Nz

LAp
g&llgie F:?s ET Groy
F'NLAI\TE?VAN'EW

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.

- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.
- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.

- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.

- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.



WINAM GROUP
CLOXX

703982

16.5.2012

A 1(1)

O

DET 2

(1) 703983

150x50x50

PCS

12

M10x55

cs|(4) 902233
o
&

M10x30

(5) 902273

resi(6) 980161

e

D

1

M10

d

+1470

DET 1

M10

(980161)

9022735

M10Ox30
(902233)

M10Ox55

(902232)

902195

+270

N/

1200

T )

M10
(980161)

902273

MT0Ox50
(902233)

M10x55
(902232)

902195

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP CLOXX L~
CLIMBING WALL DATE: 8.11.2016 LAY 1(2)

M10x55 M10 MTOX22 M10x30
9027124

MTOx50
</ ®

NOTE:
Use a wire marked pairs
of the same junction.

Huom!
Kayta langalla merkittya
paria samassa liitoksessa.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

CLIMBING WALL DATE:

CLOXX

8.11.2016

. ) N

¢ 2(2)

HUOM!

Otepalan asennus, sddto tai paikan
vaihto.

Sdatomahdollisuus (90°,180°,270°).

Jos asennetun otepalan suuntaa— tai
paikkaa halutaan muuttaa.

lrrota otepalan kiinnityspultti ja
otepala, kadnnd tai vaihda.

Siirrd tarvittaessa tappi oikeaan
paikoilleen ja lopuksi kiinnitd
muovitulppa @30 paikoilleen kaikkiin
otekokoonpanoihin.

@30 (905115)

Upotusreijdt plug

Holes

Tappi

NOTE:

Grip positions and angles
are adjustable (90°,180°270°).

Crip can be repositioned by removing
the fastening bolt and pulling the
grip off.

Securing pin can be repositioned
when angle is changed.

After the parts are reassembled.
Finish the assembly by fastening the

cover plugs (@30).

Kadnto suunnat
Angle of rotation
907, 180° 270°

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

704006

A

s

CLIMBING WALL DATE: 8.11.2016 LAY 1(1)
XXL RED
XXL YELLOW
.ﬂﬂg
Jo
(O 704006 [PE]) 704005 [pes|(C) 902124 [pes|(C) 902232 [pes|(C) 902233 [pes|(C) 980161 [pes(C) 905115 [pes|
o L 10 4] 4] 6
, 1@»
| boGrREY | | 150x50x50 | | wMtoxss | | wmioxso | | w0 | | @32 | |
PE) 905090 |PS|(C) 901302 [Pes|(0) 904336 [PCS|(x) 904301 [PCs|(x) 904302 |PCS| PCs|
L 6 6 6 | 2 4 |
S| < o
I I I I I q{hrﬁ I I
245 @20/10.5 @6x20 XXL RED XXL YELLOW

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 704159 =

CLOXX DATE: 16.5.2012 ‘ 1(2)
(2) 902124 |pes|
O 3
Q 150x50x50 | |
(4) 902233 |pes]
B -

l"t-'-—-ll.;l //

= Q‘/
< ; (= DET 2—-4 | wmioxs5 | | wMiox30 | |
N (5) 902273 [pes|(6) 980161 [pes
4 4

=

D) )
1

\ || o L

PCS PCS

(150)

400 B

785

VA | |

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A

WINAM GROUP 704159
CLOXX DATE:  16.5.2012 LAY 2(2)

DET 1 M10 DET 2 M0
(980161) 704159

(980161)

902273

902275 902124
902124
Oy .
S
9 .
M10%30 M10x30
(902233) (902233)
M10x55
M10Ox55 (902232)
(902232)

DET 4

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

CLOXX

WALL 2 DATE: 7.5.2012 1(2)
704179 704180 [pcs|() 902124 [pes|() 902232 [pes[() 902233 [res|() 980161 |pes PCS
O O @) sl Pesi(O) PesiO Pcs| Pcs|
fis 1 L 6 | 6 | 12| |
] @
@‘/ ) =
“GRAY | | 150x50x50 | | Miox55 | |  wmiox30 | | Mo | | ]
704329 902124 |Pcs 902232 |pCs 902233 |rCs 980161 |Pcs PCS
(O 704329 s sl sl PesiO) Pcs| Ps|
6 6 12
,’ &
& =
YELLOW 150x50x50 | | M10x55 | | M10x30 | | Mo | | ]
703998 902124 |pes|() 902232 |res|() 902233 [res|() 980161 [pes PCS
O O O Pes|O) PesiO) PCs| Ps|
6] 6] 12 -
@‘/ ey =
150x50x50 | | M10x55 | | M10x30 | | Mio | | ]
(O 902124 |pes|(C) 902232 |pes|(C) 902233 |pes|(C) 980161 |pcs| pes
1 6] 1 6] 12 -
ol @
s || ® Nt
150x50x50 | | M10x55 | | M10x30 | | Mo | | ]
(O 902124 |pes|(C) 902232 [pes|(C) 902233 [pes|(C) 980161 |pcs| pes
1 6] 6] 12 -
YELLOW 150x50x50 | | M10x55 | | WM1ox30 | | Mio | | ]

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A
WINAM GROUP CLOXX Vo
WALL 2 DATE:  7.5.2012 P LAY 2(2)

MTOx5D MTO
902124

MTOx 350
</ ®

NOTE:
Use a wire marked pairs
of the same junction.

Huom!
Kayta langalla merkittya
paria samassa liitoksessa.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PCS

36

4

PCS
36

PCS

M8x45

C 1(2)

M10x55

@60x115

980161

M10

1@

18]

2

PCS
20

PCS

5

(3) 902195 |pes|(4) 902232 |pes

(1) 704184 |prcs|(2) 901899

150x50x50

(5) 902233 [pes|(6) 902273 [pes

M10x30
(7) 904617 |pes|(8) 904623 |pes

@60x2.5

s~ ||

G

(9) 980150
&

M8

(1) P0O1915

20x145x600

21.5.2012

704183

DATE:

DET 2,3

WINAM GROUP
CLOXX

DET 1

LAY

X

N

{
Ne——""

oo

)
A\

‘

DET 4,5

N\

DET 6

PQ\, ,,.\

£ el £

(¥822)

2000

(0L¥1)

)%

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




V- N

704183 v

CLOXX DATE: 21.5.2012 — LA 2(2)
DET 1 DET 2
M12x120 ﬁ E | - |
(902096) W ﬁ Sillan keskilinja. Eiggg line of the
901994
904625

(902234)
904617/

902275
MTOx350

DET 5

M10
(980161)

902195

902275

T oy
zgggggﬂ%gg%%% <9o2£§2>

o

MTOx30
(902233)

DET 6

ﬂﬂw

(901899)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP

704199

CLOXX DATE: 9.5.2012 — 7 1(1)
(1) 704197 [pes|(2) 904629 |pes
1 1
1090x1090 | | w@60x1113 | |
(3) 904630 |pcs|(4) 909256 |pes
Q — —
2] 9]
@60x796 | | @16/8.4x1.6 |
(5) 909633 |pes|(6) 909852 |pcs|
9| 9]
T mMe | | wmex30 | |
( ) 0 F
1015
o
7 G%g%%//¢/¢¢///¢

780

1190

784
DET 1 M3 DET 2
(909633)
s © (909256) 904630 - /(902234)
(]
()
MEx30 9
(909852) Y
. 902134
1 904629 M12x90
904650 (901803)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 704332 —
CLOXX DATE: 16.5.2012 — 1(1)
(1) 704333 |pcs|(2) 902454 |pcs|
1 5 4
I (3 909111 [pcs|(a) 909644 [pcs|
( o
] Mi2xioo | | w2 | |
(5) 980154 |pcs| pes|
4
= @24/13 | | ]
DET 1 — -
DET 1

MT12x100

T SENCTEIIE

704333

= 902454

165
T N +270
ﬁ PE—E% ﬁ @24/13
N +0 (980154)
785 M12
(909644)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333





